Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2024-2025 y4ebublii 10o/]. 3aKJIIOYUTEJIbHBINA 3Tamn
Pabora ygacTnuka c id 3asgsku 1375165, norunom inf25f 343

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

RunID Time Username Prob Lang Result Tests Score
198 2:57:54 inf25f_ 343 1 pypy3 OK 29 100

128 1:59:03 inf25f_343 5 pypy3 Partial solution 1 O
82 1:14:56 inf25f_343 2 pypy3 0K 28 100

N/A N/A inf25f_343 3 N/A N/A 0 O

N/A N/A inf25f_343 4 N/A N/A 0 O

200 TexHMYeCKUX OaiiIoB
57 mToroBHX 6ainioB



ITocwlika mo 3agade 1
[1] def f(n):

[2] if n==

[3] return [1,4]

[4] elif log2(n)==int(log2(n)):
[5] return [n]

[6] elif n%2:

[7]1 return [n]+f(3*n+1)

[8] else:

[9] return [n]+f(n//2)

[18] from math import log2
[11] nl=int(input())

[12] n2=int(input())

[13] s1=F(n1)

[14] s2=f(n2)

[15] joint=[]

[16]if si[-1]>s2[-1]:

[17] for i in range(int(log2(s1[-1]1))-1,int(log2(s2[-1])),-1):
[18] joint.append(2%%1i)

[19] else:

[2e] for i in range(int(log2(s1[-1]1))+1,int(log2(s2[-1])),+1):
[21] joint.append(2*%1i)

[22] while len(s1)>® and len{s2)»® and s1[-1]==s2[-1]:
[23]  joint=[s1[-1]]

[24] s1l.pop(-1)

[25] s2.pop(-1)

[26] if nl==1 and n2==2 or n2==1 and nl==2:
[27] print(1)

[28] else:

[29] s2.reverse()

[38] rez=sl+joint+s2

[31] print(len(rez)-1)

[32] if len(rez)>»2:

[33] print(*rez[1:-1])



ITockliika mo 3agade 2
[1] def f(a):

[2] abc="ABCDEFGHIJKLMNOPQRSTUVWXYZabcdefghijklmnopgrstuvwxyz'
[3] sym="+" "

[4] d=8

[5] m=0

[6] for i in range(len(a)-1,-1,-1):

[7] if a[i] in sym:

[8] m+=sym. index{a[i])*52%52%%d
[e] else:

[10] mt=abc.index{a[i])*52%*d
[11] de=1

[12] return m

[13] n=int(input())

[14] i1=e

[15] s=[]

[16] for i in range(n):

[17] s.append(input())

[18] prev=f(s[@])
[19] while True:

[20] curr=f(s[il])
[21] if curr>prev:
[22] prev=curr
[23] break
[24] else:

[25] prev=curr
[26] il+=1

[27] i2=i2¢=11+1
[28] while i2<n:

[29] curr=f(s[i2])
[38] if curr>prev:
[31] i2c=i2+1
[32] break
[331] else:

[34] prev=curr
[35] i2+=1

[36] print(il,i2c)



ITocelika mo 3agaue 3
ITocernok 1O 3aade 3 He OBLIO OTIIPABJIEHO.



ITocelika mo 3amaue 4
ITocernok 1o 3aade 4 He OBLIO OTIIPABJIEHO.



ITocwliika mo 3agade 5

[1] m,n,k=map(int,input().split())

[2] p=[2%**m]*n

[3] for i in range(l,n):

[4] s,d,b=map (int,input().split())

(5] pld-1]=p[s-1]] (2%*b)

[6] for i in range(k):

[7] r,g=map(int,input().split()})

[8] print(max([len(j) for j in bin(p[r-1]lplg-11)[2:]1.split('1')1))



